A LITTLE BIT OF MATHS EVERY DAY ...

MoNDAY TUESDAY WEDNESDAY THURSDAY FRIDAY SATURDAY SUNDAY
1
What is the #th ferm of the
seduence?
-3n+26
[2123 20 17 14
A
2 3 4 5 6 7 8
Without a calaulator,  Theangles ina friangle are in the Caleulate: Caleulate Estimate the value of Explain how you know line AB is a straight hne
work out: ‘ rafio1:2.:3. 24102+ 8x107 4x20-80 -3 a\“ * |31
90+6:30 z . —w s
Is this is right angled triangle? Of 60 0-0L:0 -00% 434 1‘32 "l\w& ' ° o
142 x 87 How can you prove it? = Zu - Zs ( . X . ) ko \30
212394 307 60:90 é'deﬁts - 11.4
9 10 VS, 11 12 13 14 15
Wh|ch is larger? Without a caleulator, True or False'? F  Which of the Followmg Work out A car uses 1 lifre of fuel for every 15 miles iTATrave\s.
X 10 )* 3 30 work out: “When you multiply two numbers are prume? How many litres are used 1o fravel 180 miles?
or 3800 3 10-2_, 33 ﬁ:lme numbgrslTogeTher 1791 18 m% m o Q' Lz 1Smdae )
02x 003 e, " e S x ot 120~ 1gOmila’
0-006 3-8 even !
16 7 18 19 20 n n
Simplify Put brackefs in this Simplify What is the square root |A square has an a!lr&a‘_o{-" ¢ & There are 540 sfudents ina slchool, Suo
54— (2a + 6) caleulation fo make it -3 of 100 million? 2 240 of the sfudents are gitls. —===-
cortect. (_Te) l Gdem 80“,; 240 300 159 of the hoys are older than 16,  2©©
50‘" ZG da LS - @x 12)-4=6 6 0 000 What is its penmeTer How many boys are over 16 years of age?
. 10, hex8 107, : 30 .
da-6 = 32cm Sl 16 15 « &8
n YL 5 26 i 28 9
Expand & simplify | Find the HCF of 12 and | Calculate: How many 4-digitnumbers less | ({)rite the rratio in its | Julia buys a car for £7500 and pays a deposit of £1875
(x - 1){x - 5) 12 22 2 2 5 fren SOOOQZVEEQZ:E veing the simplest form She pays the rest in 36 equal monthly payments.
2_¢6 S 2 zz £ _ 2 | i 8.24 Work out the amourit of each morithly paymenit
X" -bxt @ =2 s 3 8, -3 3500 - 183S = 5625
Vieoag., 4 2 4 5 s 5625436 - 15625
3o 7l 22
Wrife 504 as a product Work out
of powers of its prime 3x-7:=-21 17 w
P P REMEMBER: THE BEST WAY TO REVISE MATHS IS TO “DO MATHS"!

factors.

w =19
2%¢ 32,2 3+(2x7)%}
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